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2 h 45 min + 4 h 4min 36 s 895,75 + 2,5 = 456 x 89,03 = (2345,67 + 2356)= 4701,67
6h 49min 36s 358,3 40597,68 4701,67 — 894 =3807,67
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2,344 < 21304 < 23,45 < 23,54 <234 (52) :asY s byly o3, (3

3x2x2x3x2= 2332 (62 b 352 6 K Jo ST (4

3456x0,08 = 276,48 dhs (2) s (5
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(52) ROT = 180 — (90 + 40) =50 (2
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(o) Al s 4] Jpm -1
1,05 cm + 7dam = 70,0105 m
67 m2 - 0,12 dm? = 6700,12 dm?
2456 cl = 24,56 dm3
34 q+ 9,08 dag = 340,0908 kg
(02)  (4+4)x3,14=25,12cm B 4 an lelas Jobo wld o Cde B C sl o Csl -2
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60 x15 + 2 = 450 m?2
(o1) 165-1,15=05hl=501 e e ) dw\ummm\nshlm@ o e 16,5 dal o sy Jasy andy e 4
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